ThinkPad

ThinkPad® T60 and T60p (14.1-inch and
15.0-inch)

Hardware Maintenance Manual



Removing and replacing a FRU

1010 Battery pack

/\ DANGER

Use only the battery specified in the parts list for your computer. Any other battery
could ignite or explode.

Unlock the battery release lever Y. Holding the battery release lever in the
unlocked position [, remove the battery pack in the direction shown by arrow

e Be

(LI (L

F Y P

When installing: Install the battery pack along the slide rails of the slot. Then
make sure that the battery release lever is in the locked position
as in this figure.

-

L]

5

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 63



Removing and replacing a FRU

1020 Ultrabay Slim device

Note
Ultrabay Slim does not accept any of the following devices:
* Ultrabay Plus devices
 Ultrabay 2000 devices

When you release the switch in step [}, the lever pops out. In step A, pull the
lever a little to release the device from the bay.

64  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

1040 Palm rest or palm rest with fingerprint reader

For access, remove this FRU in order:
« |”1010 Battery pack” on page 63|

Notes
In models with the fingerprint reader, the sensor is attached to the palm rest
FRU. If the fingerprint reader has any defects, you can replace it by the
procedures given in this section, which are the same for a palm rest with or
without a fingerprint reader.

Step Icon Screw (quantity) Color Torque
1] % M2 x 14 mm, flat-head, nylon-coated | Black 0.167 Nm
(4) (1.7 kgfem)
(continued)

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 67



Removing and replacing a FRU

68  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

When installing: When you attach the palm rest, do as follows:
1. Attach the fingerprint reader connector firmly to the system board.

2. 14.1-in. LCD models:

a. Align the front side of the palm rest and the frame first; then place the palm
rest as shown in this figure.

(continued)

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 69



Removing and replacing a FRU

Note: Make sure that the frame and the front side of the palm rest are
attached firmly.

(continued)

70  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

b. Push the palm rest a little toward the keyboard Jj, and press the left-top
edge A and the right-top edge of the palm rest until they latch.

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 71



Removing and replacing a FRU

15.0-in. LCD models:

a. Align the front side of the palm rest and the frame, and attach the
front-center of the palm rest, as shown in this figure.

Ao/

b. Press the left-top edge of the palm rest to latch it, and make sure that the
left-top edge, the right-top edge, and the front side of the palm rest are
attached firmly.

(continued)

72 MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

3. Close the LCD cover and turn the computer over. Then fasten the four screws
in the order shown in this figure.

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 73



Removing and replacing a FRU

1060 Keyboard

For access, remove these FRUs in order:
« |”1010 Battery pack” on page 63|
« |”1040 Palm rest or palm rest with fingerprint reader” on page 67|

[

Step Icon Screw (quantity) Color Torque
[l M2 x 14 mm, flat-head, nylon-coated | Black 0.167 Nm
(1) (1.7 kgfem)

Lift the keyboard a little in the direction shown by arrow B, and then detach the
connector [F].

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 75



Removing and replacing a FRU

When installing: Make sure that the keyboard edges [} are under the frame as
shown in this figure.

76  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

1120 Keyboard bezel and wireless WAN antenna cable (AUX)

Important

For the compatibility of the keyboard bezel, see|"FRU compatibility matrix”|
_n page 61,

For access, remove these FRUs in order:
* [“1010 Battery pack” on page 63

* [“1040 Palm rest or palm rest with fingerprint reader” on page 67
* [“1060 Keyboard” on page 75|

+ |“1100 PCI Express Mini Card for wireless WAN” on page 83|

Note: The wireless WAN antenna (AUX) is attached to the keyboard bezel. When
removing it, remove the keyboard bezel first.

Step Screw (quantity) Color Torque
M2 x 14 mm, flat-head, nylon-coated (1) Black 0.167 Nm
(1.7 kgfem)
ﬂ M2 x 19 mm, bind-head, nylon-coated (1) Black 0.167 Nm
(1.7 kgfem)
(continued)

86  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

Step Screw (quantity) Color Torque

M2 x 3 mm, small-head, nylon-coated (1) Silver 0.167 Nm
(1.7 kgfem)

ﬂ M2 x 3.5 mm, flat-head, nylon-coated (2) Black 0.167 Nm
(1.7 kgfem)

In step E , release the wireless antenna cable from the cable guide. In some
models, three cables may have to be released in this step.

In step [, detach the claws. Then remove the keyboard bezel in the direction
shown by arrow JA4 .

When installing: Make sure that all the claws are attached firmly. Then fasten the
screws to secure the keyboard bezel.

(continued)

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 87



Removing and replacing a FRU

Note: Steps [ and [E] are for the wireless WAN antenna cable (AUX).

When installing: Make sure that the antenna cable is routed along the cable
guides.

88  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

1130 Fan assembly

Important
For the compatibility of the fan assembly, see ['FRU compatibility matrix” on|

For access, remove these FRUs in order:

+ |“1010 Battery pack” on page 63

* [“1040 Palm rest or palm rest with fingerprint reader” on page 67

+ |“1060 Keyboard” on page 75|

* [“1120 Keyboard bezel and wireless WAN antenna cable (AUX)” on page 86|

Step Screw (quantity) Color Torque
1] M2 x 9.5 mm, flat-head, nylon-coated (1) Black 0.167 Nm
(1.7 kgfem)
2] M2 x 3 mm, small-head, nylon-coated (1) Silver 0.167 Nm
(1.7 kgtem)
(continued)

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 89



Removing and replacing a FRU

Step Screw (quantity) Color Torque
4] M2 x 9.5 mm, flat-head, nylon-coated (3) Black 0.167 Nm
(1.7 kgfem)

Attention: Do not handle the fan roughly. Improper handling of the fan can cause
distortion or deformation and imperfect contact with components.

90 MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



Removing and replacing a FRU

When installing;:

* Before you attach the fan assembly to the computer, apply thermal grease, at an
amount of 0.2 grams, on the part marked [ as in the following figure. Either
too much or too less application of grease can cause a thermal problem due to
imperfect contact with a component.

[ ]

* Make sure that the fan connector is attached firmly.

* When attaching the fan assembly to the frame, take care not to damage the heat
sink () of the fan assembly.

4
(b
-

(continued)

ThinkPad T60 and T60p (14.1-inch and 15.0-inch) 91



Removing and replacing a FRU

e Attach the fan bracket.

* Secure the screws in order as shown in this figure.

Attention: Do not use an electric screwdriver to secure these screws.

92  MT 1951, 1952, 1953, 1954, 1955, 1956, 2007, 2008, 2009, 2613, 2623, and 2637



	Contents
	About this manual
	Introduction
	Important service information
	Strategy for replacing FRUs
	Strategy for replacing a hard disk drive
	Important notice for replacing a system board
	How to use error messages

	Strategy for replacing FRUs for CTO, CMV, and GAV
	Product definition
	FRU identification for CTO, CMV, and GAV products
	Using PEW
	Using eSupport
	Using the HMM


	Important information about replacing RoHS compliant FRUs
	Diskette compatibility matrix
	Safety notices: multilingual translations
	Safety information
	General safety
	Electrical safety
	Safety inspection guide
	Handling devices that are sensitive to electrostatic discharge
	Grounding requirements

	Laser compliance statement

	General descriptions
	Read this first
	What to do first

	Related service information
	Service Web site
	Restoring the factory contents by using Product Recovery discs
	Passwords
	How to remove the power-on password
	How to remove the hard-disk password

	Power management
	Screen blank mode
	Standby mode
	Hibernation mode


	Checkout guide
	Testing the computer
	Creating the PC-Doctor diagnostics diskette

	Detecting system information with PC-Doctor
	Hardware Info
	Utility
	PC-Doctor for Windows

	Power system checkout
	Checking the ac adapter
	Checking operational charging
	Checking the battery pack
	Checking the backup battery



	ThinkPad T60 and T60p (14.1-inch and 15.0-inch)
	Product overview
	Specifications
	Status indicators
	FRU tests
	Fn key combinations

	Symptom-to-FRU index
	Numeric error codes
	Error messages
	Beep symptoms
	No-beep symptoms
	LCD-related symptoms
	Intermittent problems
	Undetermined problems

	FRU replacement notices
	Screw notices
	Retaining serial numbers
	Restoring the serial number of the system unit
	Retaining the UUID
	Reading or writing the ECA information


	Removing and replacing a FRU
	FRU compatibility matrix
	1010 Battery pack
	1020 Ultrabay Slim device
	1030 Hard disk drive cover, hard disk drive, and hard disk drive rubber rails
	1040 Palm rest or palm rest with fingerprint reader
	1050 DIMM
	1060 Keyboard
	1070 Modem daughter card (MDC-1.5)
	1080 PCI Express Mini Card for 802.11 a/b/g wireless LAN
	1090 PCI Express Mini Card for 802.11 a/b/g/n wireless LAN
	1100 PCI Express Mini Card for wireless WAN
	1110 Backup battery
	1120 Keyboard bezel and wireless WAN antenna cable (AUX)
	1130 Fan assembly
	1140 CPU
	1150 LCD assembly
	1160 Base cover
	1170 Speaker assembly
	1180 USB sub card with cable
	1190 SIM card slot
	1200 Structure frame
	1210 System board, PC Card/ExpressCard slots assembly and interposer card
	2010 LCD front bezel
	2020 Inverter card
	2030 Bluetooth daughter card (BDC-2)
	2040 Wireless WAN antenna cable (MAIN) or wireless WAN blank cover
	2050 LCD panel, LCD cable, and hinges
	2060 LCD rear cover and wireless LAN antenna cables

	Locations
	Front view
	Rear view
	Bottom view

	Parts list
	Overall
	LCD FRUs
	14.1-in. XGA TFT
	14.1-in. SXGA+ TFT
	15.0-in. XGA TFT
	15.0-in. SXGA+ IPS TFT
	15.0-in. UXGA IPS TFT

	Keyboard
	Recovery discs
	Windows XP Professional CDs
	Windows XP Home Edition CDs
	Windows Vista Home Premium (32 bit) DVDs
	Windows Vista Business (32 bit) DVDs
	Windows Vista Ultimate (32 bit) DVDs

	Miscellaneous parts
	AC adapters
	Common parts list
	Tools
	Power cords


	Notices
	Trademarks


